



# A NEW SOLUTION OF KIRCHHOFF'S EQUATIONS IN THE CASE OF A LINEAR INVARIANT RELATION†

G. V. GORR and Ye. K. UZBEK

Donetsk

e-mail: resource@donduet.edu.ua

(Received 3 February 2004)

The problem of integrating Kirchhoff's differential equations [1] when they allow of a linear invariant relation with respect to the main variables – the components of the angular momentum of a gyrostat and the unit vector of the axis of symmetry of the force field, is considered. The initial system of equations is reduced to a second-order system using first integrals of the equations. Under certain conditions, imposed on the parameters characterizing the geometry of the gyrostat masses and the potential and gyroscopic forces, the integrating factor of the reduced equations is obtained. The solution of Kirchhoff's equations obtained contains four arbitrary constants and is determined for more general assumptions compared with existing solutions [2–4]. © 2006 Elsevier Ltd. All rights reserved.

In the dynamics of a rigid body with a fixed point, it is of considerable interest to investigate not only the classical problem of the motion of a heavy rigid body [5, 6], but also various generalizations of it, particularly the problem of the motion of a gyrostat acted upon by potential and gyroscopic forces and the problem of the motion of a heavy rigid body in an ideal incompressible fluid [1–4, 8, 9]. This is due to the fact that these two problems are mathematically equivalent, since they are described by Kirchhoff-class differential equations [1, 7]. In view of this fact, the previously established cases of the integrability of the equations of motion of a solid in a fluid (see the reviews in [5, 6] and also [3, 4, 9, 10]) can be interpreted as solutions of the equations of motion of a gyrostat acted upon by potential and gyroscopic forces [7]. Since the inverse assertion also holds, any new solution of the equations of motion of a gyrostat [7] is also a new solution of Kirchhoff's equations.

In the general case, the non-integrability of the Euler–Poisson equations was proved in [11] and the non-integrability of the Kirchhoff–Poisson equations was proved in [8]. The problem of constructing new particular solutions for these equations is therefore a pressing problem [6].

## 1. FORMULATION OF THE PROBLEM

Consider the differential equations of the motion of a gyrostat with a fixed point, in a force field, which is the superposition of Newtonian, electric and magnetic fields, in the formulation proposed previously in [7]

$$\dot{\mathbf{x}} = (\mathbf{x} + \boldsymbol{\lambda}) \times a\mathbf{x} + a\mathbf{x} \times B\mathbf{v} + \mathbf{s} \times \mathbf{v} + \mathbf{v} \times C\mathbf{v} \tag{1.1}$$

$$\dot{\mathbf{v}} = \mathbf{v} \times a\mathbf{x} \tag{1.2}$$

where  $\mathbf{x} = (x_1, x_2, x_3)$  is the angular momentum of the gyrostat  $\mathbf{v} = (v_1, v_2, v_3)$  is the unit vector of the axis of symmetry of the force fields,  $\boldsymbol{\lambda} = (\lambda_1, \lambda_2, \lambda_3)$  is the gyrostatic moment, characterizing the motion of the carrier bodies,  $\mathbf{s} = (s_1, s_2, s_3)$  is a vector codirectional with the vector of the generalized centre of mass,  $a = (a_{ij})$  is the gyration tensor, constructed at a fixed point,  $B = (B_{ij})$  is a constant symmetrical

†Prikl. Mat. Mekh. Vol. 69, No. 6, pp. 922–928, 2005.

0021–8928/\$—see front matter. © 2006 Elsevier Ltd. All rights reserved.

doi: 10.1016/j.jappmathmech.2005.11.003

third-order matrix, defining the gyroscopic forces, and  $C = (C_{ij})$  is a constant symmetrical third-order matrix, characterizing the potential forces.

Equations (1.1) and (1.2) have first integrals

$$\mathbf{x} \cdot \mathbf{ax} - 2(\mathbf{s} \cdot \mathbf{v}) + (C\mathbf{v} \cdot \mathbf{v}) = 2E, \quad \mathbf{v} \cdot (\mathbf{x} + \boldsymbol{\lambda}) - (B\mathbf{v} \cdot \mathbf{v})/2 = k, \quad \mathbf{v} \cdot \mathbf{v} = 1 \quad (1.3)$$

Here  $E$  and  $k$  are arbitrary constants.

We will formulate the problem of determining the conditions for the existence in system (1.1), (1.2) of a single invariant relation

$$x_1 - (g_0 + g_1 v_1 + g_2 v_2 + g_3 v_3) = 0 \quad (1.4)$$

where  $g_i$  ( $i = 0, 1, 2, 3$ ) are constants to be determined.

For the problem of the motion of a body in a fluid the conditions for the existence of invariant relation (1.4) were obtained in [4], but the integration of the Kirchhoff–Poisson equations was only carried out in special cases [2, 3], where the version  $\boldsymbol{\lambda} = \mathbf{0}$ ,  $\mathbf{s} = \mathbf{0}$  was investigated in [2] and the version  $\boldsymbol{\lambda} = \mathbf{0}$  was investigated in [3]. For the classical problem of the motion of a heavy rigid body, the equations of which follow from system (1.1), (1.2) with  $\boldsymbol{\lambda} = \mathbf{0}$ ,  $B = 0$  and  $C = 0$ , the analogue of relation (1.4), namely,  $x_1 = 0$ , was investigated by Hess in [12]. A geometrical interpretation of Hess' solution was given by Kovalev [13]. Sretenskii extended this solution [14] to the case when  $\boldsymbol{\lambda} \neq \mathbf{0}$ ,  $B = 0$ ,  $C = 0$ .

We will differentiate relation (1.4) by virtue of the scalar equations which follow from system (1.1), (1.2), and we will require that the equality obtained, after substituting relation (1.4) into it, should be an identity for any values of the variables  $x_2, x_3, v_1, v_2, v_3$ . We then obtain the following conditions, imposed on the parameters of the problem and the parameter  $g_i$  ( $i = 0, 1, 2, 3$ )

$$\begin{aligned} a_{12} = a_{23} = 0, \quad a_{22} = a_{33}, \quad \lambda_2 = 0, \quad a_{13}g_0 - a_{22}\lambda_3 = 0, \quad g_2 = B_{12} \\ a_{13}g_1 - a_{22}g_3 + a_{22}B_{13} = 0, \quad a_{13}g_2 + a_{22}B_{23} = 0 \\ a_{13}g_3 + a_{22}g_1 + a_{22}B_{33} = 0, \quad a_{22}g_1 - a_{13}g_3 + a_{22}B_{22} = 0 \\ s_2 = g_0(a_{13}B_{23} + a_{11}g_2), \quad s_3 = g_0(a_{11}g_3 - a_{13}g_1 - a_{13}B_{22}) \\ C_{12} + g_1(a_{13}B_{23} + a_{11}g_2) = 0, \quad C_{13} + g_1(a_{11}g_3 - a_{13}g_1 - a_{13}B_{22}) = 0 \\ C_{23} + g_2(a_{11}g_3 - a_{13}g_1 - a_{13}B_{22}) = 0, \quad C_{23} + g_3(a_{13}B_{23} + a_{11}g_2) = 0 \\ C_{22} - C_{33} = a_{11}(g_3^2 - g_2^2) - a_{13}(g_1g_3 + g_3B_{22} + g_2B_{23}) \end{aligned} \quad (1.5)$$

We will consider the version when  $a_{13} = 0$ . Without loss of generality we can assume that  $s_3 = 0$ . Then, putting  $a_{ii} = a_i$  ( $i = 1, 2, 3$ ), we have from system (1.5)

$$\begin{aligned} a_{ij} = 0 \quad (i \neq j), \quad a_3 = a_2, \quad \lambda_2 = \lambda_3 = 0, \quad B_{23} = B_{13} = 0, \quad B_{33} = B_{22} \\ C_{12} = a_1 B_{12} B_{22}, \quad C_{23} = C_{13} = 0, \quad C_{33} - C_{22} = a_1 B_{12}^2, \quad s_3 = 0 \\ g_0 = s_2/(a_1 B_{12}), \quad g_1 = -B_{22}, \quad g_2 = B_{12}, \quad g_3 = 0 \end{aligned} \quad (1.6)$$

It follows from the conditions  $a_{ij} = 0$ ,  $a_3 = a_2$  that the first coordinate axis, with respect to which the linear invariant relation (1.4) is specified, is orthogonal to the circular section of the gyration ellipsoid. The other equalities of (1.6) show that the vector of the gyrostatic moment is directed along the same axis, while the vector  $\mathbf{s}$ , in general, does not belong to it.

On the basis of conditions (1.6), relation (1.4) can be written as follows:

$$x_1 = g_0 - B_{22}v_1 + B_{12}v_2 \quad (1.7)$$

Equations (1.1) and (1.2), with conditions (1.6) and (1.7), take the form

$$\begin{aligned}
 \dot{x}_2 &= x_3(\alpha_0 + \alpha_1 v_1 + \alpha_2 v_2) - \alpha_3 v_3 - \alpha_{13} v_1 v_3 \\
 \dot{x}_3 &= -x_2(\alpha_0 + \alpha_1 v_1 + \alpha_2 v_2) + \alpha_3 v_2 + \alpha_{13} v_1 v_2 \\
 \dot{v}_1 &= a_2(x_3 v_2 - x_2 v_3) \\
 \dot{v}_2 &= -a_2 x_3 v_1 + a_1 g_0 v_3 - a_1 B_{22} v_1 v_3 + a_1 B_{12} v_2 v_3 \\
 \dot{v}_3 &= a_2 x_2 v_1 - a_1 g_0 v_2 + a_1 B_{22} v_1 v_3 - a_1 B_{12} v_2^2
 \end{aligned}
 \tag{1.8}$$

where

$$\begin{aligned}
 \alpha_0 &= g_0(a_1 - a_2) - a_2 \lambda_1, & \alpha_1 &= a_2 B_{11} - (a_1 - a_2) B_{22} \\
 \alpha_2 &= a_1 B_{12}, & \alpha_3 &= s_1 + a_{22} g_0 B_{22}, & \alpha_{13} &= C_{22} - C_{11} + a_1 B_{12}^2 - a_1 B_{22}^2
 \end{aligned}$$

We will take relations (1.6) and (1.7) into account in the integrals (1.3). We obtain

$$\begin{aligned}
 a_2(x_2^2 + x_3^2) - 2\alpha_3 v_1 - \alpha_{13} v_1^2 &= 2E_1, & v_1^2 + v_2^2 + v_3^2 &= 1 \\
 x_2 v_2 + x_3 v_3 + (g_0 + \lambda_1) v_1^2 - (B_{11} + B_{22}) v_1^2 / 2 &= k_1
 \end{aligned}
 \tag{1.9}$$

Here

$$E_1 = E - (a_1 g_0^2 + C_{33}) / 2, \quad k_1 = k + B_{22} / 2$$

( $E_1$  and  $k_1$  are new arbitrary constants).

Equations (1.8) have three first integrals (1.9), and hence their integration reduces to the integration of a second-order system. We will find the integrating factor of this system using Jacobi's integrating factor theory [15]. This approach is usually employed when we know the additional first integral of system (1.1), (1.2), since the Jacobi integrating factor in it is equal to unity. The following condition holds for system (1.8)

$$\sum_{i=1}^5 \frac{\partial Y_i}{\partial y_i} \neq 0$$

where

$$y_1 = x_2, \quad y_2 = x_3, \quad y_3 = v_1, \quad y_4 = v_2, \quad y_5 = v_3$$

and  $Y_i$  are the right-hand sides of system (1.8). Hence, the Jacobi integrating factor is a function of the variables  $y_i$  ( $i = 1, 2, \dots, 5$ ). In view of that the use of the general theory [15] is considerably, and hence in this paper we will integrate system (1.8) by finding the integrating factor of the second-order reduced system.

From the first and third relations of system (1.9) we have

$$x_2 = \frac{a_2 v_2 \Phi(v_1) + v_3 \sqrt{\Delta(v_1)}}{a_2(1 - v_1^2)}, \quad x_3 = \frac{a_2 v_3 \Phi(v_1) - v_2 \sqrt{\Delta(v_1)}}{a_2(1 - v_1^2)} \tag{1.10}$$

where

$$\begin{aligned}
 \Phi(v_1) &= k_1 - (g_0 + \lambda_1) v_1 + (B_{11} + B_{22}) v_1^2 / 2 \\
 \Delta(v_1) &= d_0 + d_1 v_1 + d_2 v_1^2 + d_3 v_1^3 + d_4 v_1^4
 \end{aligned}
 \tag{1.11}$$

Here

$$\begin{aligned}
 d_0 &= a_2(2E_1 - a_2k_1), \quad d_1 = 2a_2[\alpha_3 + a_2(g_0 + \lambda_1)k_1] \\
 d_2 &= a_2[\alpha_{13} - 2E_1 - a_2(g_0 + \lambda_1)^2 - a_2k_1(B_{11} + B_{22})] \\
 d_3 &= a_2[a_2(g_0 + \lambda_1)(B_{11} + B_{22}) - 2\alpha_3] \\
 d_4 &= -a_2[\alpha_{13} + a_2(B_{11} + B_{22})^2/4]
 \end{aligned}
 \tag{1.12}$$

We introduce expressions (1.7) and (1.10) into the last three equations of system (1.8). We obtain

$$\dot{v}_1 = -\sqrt{\Delta(v_1)}, \quad \dot{v}_2 = \frac{v_1 v_2 \sqrt{\Delta(v_1)} + v_3 \Psi(v_1)}{1 - v_1^2}, \quad \dot{v}_3 = \frac{v_1 v_3 \sqrt{\Delta(v_1)} - v_2 \Psi(v_1)}{1 - v_1^2}
 \tag{1.13}$$

Here

$$\begin{aligned}
 \Psi(v_1) &= a_1 B_{12} v_2 (1 - v_1^2) + P(v_1), \quad P(v_1) = p_0 + p_1 v_1 + p_2 v_1^2 + p_3 v_1^3 \\
 p_0 &= a_1 g_0, \quad p_1 = -a_2 k_1 - a_1 B_{22}, \quad p_2 = a_2 \lambda_1 + g_0 (a_2 - a_1) \\
 p_3 &= [2a_1 B_{22} - a_2 (B_{11} + B_{22})]/2
 \end{aligned}
 \tag{1.14}$$

Hence, the integration of Eqs (1.1) and (1.2) over invariant relation (1.4) reduces to integrating the third-order system (1.13).

### 2. INTEGRATION OF SYSTEM (1.13)

We will introduce the variables  $\varphi$  and  $\theta$  instead of the variables  $v_1, v_2$  and  $v_3$ . By virtue of the geometrical integral  $v_1^2 + v_2^2 + v_3^2 = 1$  we can write

$$v_1 = \cos \theta, \quad v_2 = \sin \theta \cos \varphi, \quad v_3 = \sin \theta \sin \varphi
 \tag{2.1}$$

We substitute expressions (2.1) into system (1.3). We obtain

$$d\theta/dt = \sqrt{\Delta(\cos \theta)}/\sin \theta
 \tag{2.2}$$

$$\sqrt{\Delta(\cos \theta)} \sin \theta d\varphi + [a_1 B_{12} \sin^3 \theta \cos \varphi + P(\cos \theta)] d\theta = 0
 \tag{2.3}$$

Equation (2.2) defines the relation  $\theta(t)$ . In general, it follows from this that  $v_1 = \cos \theta$  is an elliptic function of time. To determine the function  $\varphi(\theta)$  from Eq. (2.3) we specify the integrating factor of this equation in the form

$$M(\varphi, \theta) = [\sqrt{\Delta(\cos \theta)} N(\varphi, \theta)]^{-1}, \quad N(\varphi, \theta) = \varphi_1(\theta) \sin \varphi + \varphi_2(\theta) \cos \varphi + \varphi_3(\theta)
 \tag{2.4}$$

where  $\varphi_i(\theta)$  ( $i = 1, 2, 3$ ) are functions to be determined.

If the integrating factor (2.4) is found, Eq. (2.3) can be written in the form

$$\frac{\partial V(\varphi, \theta)}{\partial \varphi} d\varphi + \frac{\partial V(\varphi, \theta)}{\partial \theta} d\theta = 0
 \tag{2.5}$$

Here, by virtue of relations (2.3) and (2.4), we have put

$$\frac{\partial V(\varphi, \theta)}{\partial \varphi} = \frac{\sin \theta}{N(\varphi, \theta)}, \quad \frac{\partial V(\varphi, \theta)}{\partial \theta} = \frac{a_1 B_{12} \sin^3 \theta \cos \varphi + P(\cos \theta)}{\sqrt{\Delta(\cos \theta)} N(\varphi, \theta)}
 \tag{2.6}$$

Bearing these equations in mind, we can write the equality

$$\frac{\partial^2 V(\varphi, \theta)}{\partial \theta \partial \varphi} = \frac{\partial^2 V(\varphi, \theta)}{\partial \varphi \partial \theta}$$

We have

$$\sqrt{\Delta(\cos \theta)}(\varphi_3'(\theta) \sin \theta - \varphi_3(\theta) \cos \theta) = a_1 B_{12} \varphi_1(\theta) \sin^3 \theta \tag{2.7}$$

$$\sqrt{\Delta(\cos \theta)}(\varphi_2'(\theta) \sin \theta - \varphi_2(\theta) \cos \theta) = \varphi_1(\theta) P(\cos \theta) \tag{2.8}$$

$$\sqrt{\Delta(\cos \theta)}(\varphi_1'(\theta) \sin \theta - \varphi_1(\theta) \cos \theta) = a_1 B_{12} \varphi_3(\theta) \sin^3 \theta - \varphi_2(\theta) P(\cos \theta) \tag{2.9}$$

To find the solution of system (2.7)–(2.9), by analogy with [2, 3] we put  $\varphi_1(\theta) = \sqrt{\Delta(\cos \theta)}$ . Equation (2.7) can then be simply integrated

$$\varphi_3(\theta) = \Phi(\cos \theta) \sin \theta, \quad \Phi(\cos \theta) = x_0 - a_1 B_{12} \cos \theta \tag{2.10}$$

where  $x_0$  is an arbitrary constant. The solution of Eq. (2.8) will be found in the class of polynomials in  $\cos \theta$ . It can be shown that, when  $p_2 = 0$ , it allows of the solution

$$\varphi_2(\theta) = -(p_1 + 2p_3) - p_0 \cos \theta + p_3 \cos^2 \theta \tag{2.11}$$

Hence, by virtue of the notation (1.14) we obtain, in addition to conditions (1.6), the constraint of the parameters of problem (1.1), (1.2)

$$\lambda_1 = g_0(a_1 - a_2)/a_2 \tag{2.12}$$

We introduce the expressions  $\varphi_1(\theta) = \sqrt{\Delta(\cos \theta)}$ , (2.10) and (2.11) into Eq. (2.9) and require that the equality obtained should be an identity in  $\theta$ . Then, in view of the expression for  $\Delta(v_1)$  we obtain from relations (1.11)

$$\begin{aligned} d_1 + 2x_0 a_1 B_{12} + 2p_0(p_1 + 2p_3) &= 0 \\ d_0 + d_2 - a_1^2 B_{12}^2 + p_0^2 + p_1(p_1 + 2p_3) &= 0 \\ d_1 + 3d_3 - 4a_1 B_{12} x_0 - 2p_0 p_3 + 2p_0 p_1 &= 0 \\ d_4 + a_1^2 B_{12}^2 + p_3^2 = 0, \quad d_3 - 2a_1 B_{12} x_0 - 2p_0 p_3 &= 0 \end{aligned} \tag{2.13}$$

It can be shown on the basis of the notation (1.12), (1.14) and condition (2.12) that the system of equations (2.13) is dependent and can be reduced to only two equations

$$a_2(C_{33} - C_{11}) = a_1(a_1 B_{22} - a_2 B_{11})B_{22} + a_1^2 B_{12}^2 \tag{2.14}$$

$$x_0 = [a_1 g_0(a_2 B_{11} - a_1 B_{22}) - a_2 s_1]/(a_1 B_{12}) \tag{2.15}$$

Hence, if the parameters of problem (1.1), (1.2) satisfy conditions (2.12) and (2.14), the differential equation (2.3) allows of the integrating factor (2.4), where  $\varphi_1(\theta) = \sqrt{\Delta(\cos \theta)}$ ,  $\varphi_2(\theta)$  and  $\varphi_3(\theta)$  are expressed by formulae (2.10) and (2.11), while the parameter  $x_0$  is defined by relations (2.15). The constants  $E_1$  and  $k_1$ , occurring in the expression for  $d_i$  from (1.12), remain arbitrary.

We return to system of equations (2.6). From the first equation of this system, in general, one can obtain three versions of the result of the integration. They depend on the values of the quantity

$$\mu_0 = (p_1 + 2p_3)^2 + d_0 - x_0^2$$

Here we assume that the inequality  $\mu_0 > 0$  is satisfied, which can be achieved by the choice of the arbitrary constants  $E_1$  and  $k_1$ . Then, by virtue of relations (1.11) and (1.12), it follows from Eq. (2.2) that values of the variable  $\theta$  exist for which the quantity  $\Delta(\cos \theta)$  is not negative, i.e.  $\theta(t)$  is a real function of time. When  $\mu_0 > 0$  we have

$$V(\varphi, \theta) = \frac{1}{\sqrt{\mu_0}} \ln \left| \frac{H_+(\varphi, \theta)}{H_-(\varphi, \theta)} \right| + F(\theta) \quad (2.16)$$

where

$$H_{\pm}(\varphi, \theta) = h(\theta) \pm \sqrt{\mu_0} \operatorname{tg} \frac{\varphi - \alpha(\theta)}{2}, \quad h(\theta) = \Phi(\cos \theta) + \sqrt{\mu_0 + \Phi^2(\cos \theta)}$$

$$\alpha(\theta) = \arccos \frac{\varphi_2(\cos \theta)}{\sin \theta \sqrt{\mu_0 + \Phi^2(\cos \theta)}}$$

while  $F(\theta)$  is a function which is found by substituting expression (2.16) into the second equation of system (2.6)

$$F(\theta) = f(v_1(\theta)) = \int \frac{-a_1 B_{12} [(p_1 + 2p_3) + p_0 v_1 - p_3 v_1^2]}{[\mu_0 + \Phi^2(v_1)] \sqrt{\Delta(v_1)}} dv_1 \quad (2.17)$$

Hence, relation (2.5) takes the form  $dV(\varphi, \theta) = 0$ , i.e. Eq. (2.3) allows of the first integral  $V(\varphi, \theta) = C$  when conditions (2.12), (2.14) and (2.15) are satisfied, where  $C$  is an arbitrary constant. By virtue of equalities (2.16) and (2.17) we can reduce it to the form

$$\varphi(\theta) = \alpha(\theta) + 2 \operatorname{arctg} \left[ \frac{h(\theta)}{\sqrt{\mu_0}} \operatorname{th} \frac{\sqrt{\mu_0}}{2} (C - f(\cos \theta)) \right] \quad (2.18)$$

Consequently, in the solution constructed  $v_1 = \cos \theta(t)$  is an elliptic function of time, while the relation  $\varphi = \varphi(\theta)$  is given by Eq. (2.18). After substituting these functions into Eqs (1.7), (1.10) and (2.1), we obtain the dependence of all the variables of problem (1.1), (1.2) on the time  $t$ . The solution obtained depends on four arbitrary constants  $E, k, C$  and  $t_0$ .

In conclusion, we note that Chaplygin [2] constructed a solution of Eqs (2.2) and (2.3) for the conditions  $g_0 = 0, \lambda_1 = 0$  and  $s_1 = 0$ , while Kharlamov [3] constructed a solution for the conditions  $g_0 = 0$  and  $\lambda_1 = 0$ .

## REFERENCES

1. KHARLAMOV, P. V., MOZALEVSKAYA, G. V. and LESINA, M. Ye., The various representations of Kirchhoff's equations. In *Mechanics of Solids*. Inst. Prikl. Mat. Mekh. NAN Ukrainy, Donetsk, 2001, Issue 31, 3–17.
2. CHAPLYGIN, S. A., Some cases of the motion of a rigid body in a fluid (Second paper). *Collected Papers*, Vol. 1. Gostekhizdat, Moscow–Leningrad, 1948, 194–311.
3. KHARLAMOV, P. V., The linear integral of the equations of motion of a heavy rigid body in a fluid. *Trudy Donetsk. Industr. Inst.*, 1957, 20, 51–57.
4. KHARLAMOV, P. V., The motion in a fluid of a body bounded by a multiply connected surface. *Zh. Prikl. Mekh. Tekh. Fiz.*, 1963, 4, 17–29.
5. BORISOV, A. V. and MAMAYEV, I. S., *Dynamics of Solids Regular and Chaotic Dynamics*. NITs, Izhevsk, 2001.
6. GORR, G. V., KUYDRYASHOVA, L. V. and STEPANOVA, L. A., *Classical Problems of Dynamics of Solids. The Development and Present State*. Naukova Dumka, Kiev, 1978.
7. YEHIA, H. M., On the motion of a rigid body acted upon by potential and gyroscopic forces. I. The equation of motion and their transformation. *J. Theor. and Appl. Mech.*, 1986, 5, 747–754.
8. KOZLOV, V. V. and ONISHCHENKO, D. A., The non-integrability of Kirchhoff's equations. *Dokl. Akad. Nauk SSSR*, 1982, 266, 6, 1298–1300.
9. KIRCHHOFF, G. R., Über die Bewegung eines Rotationkörpers in einer Flüssigkeit. *J. Reine und Angew. Math.* 1870, 71, 237–262.
10. RUBANOVSKII, V. N., New cases of the integrability of the equations of motion of a heavy rigid body in a fluid. *Vestnik MGU. Matematika, Mekhanika*, 1968, 2, 99–106.

11. ZIGLIN, S. L., Branching of the solutions and the non-existence of first integrals in Hamiltonian mechanics. *Funktional'nyi Analiz i ego Prilozheniya*, 1983, **17**, 1, 8–23.
12. HESS, W., Über die Eulerschen Bewegungsgleichungen und über eine neue partikuläre Lösung des Problems der Bewegung eines starren schweren Körpers um einen festen Punkt. *Math. Ann.*, 1890, **37**, 2, 153–181.
13. KOVALEV, A. M., The motion of a body in the Hess case. In *Mechanics of Solids*. Naukova Dumka, Kiev, 1969, Issue 1, 12–27.
14. SRETENSKII, L. N., Some cases of the motion of a heavy rigid body with a gyroscope. *Vestnik MGU. Matematika, Mekhanika*, 1963, 3, 60–71.
15. GOLUBEV, V. V., *Lectures on the Integration of the Equations of Motion of a Heavy Rigid Body about a Fixed Point*. Gostekhizdat, Moscow, 1953.

Translated by R.C.G.